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Three Addends (2 Digit)

Name:

Solve each of the problems.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

87+31+79=

38+67+31=

19+55+50=

23+80+45=

14+ 77+60=

39+87+10=

26+17+16=

36+ 35+ 68 =

39+99+61=

29+22+46=

30+87+76=

15+82+89=

94+79+81=

73+85+96=

Answers

10.

11

12.

13.

14.
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ﬂh Three Addends (2 Digit) Name.Answer Key

Solve each of the problems. Answers
1) 87+31+79= 197 197
- 1.
2) 38+67+31= 136 2 136
3 124
3 19+55+50= 124
4 148
4) 23+80+45= 148 5 151
6. 136
5 14+77+60= 151
7. o9
6) 39+87+10= 136 5 139
199
7) 26+17+16= 59 %
10, 97
8 36+35+68= 139 . 103
9 39+99+61= 199 . 186
13, 254
100 29+ 22 +46= 97
14, 254
11) 30+87+76= 193
12) 15+82+89= 186
13) 94+79+81= 254
14) 73+85+96= 254
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Three Addends (2 Digit)

Name:

Solve each of the problems.

Answers

{

136
59

197 139
199 136

148
151

124
97 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

87/+31+79=

38+67+31=

19+55+50=

23+80+45=

14+77+60=

39+87+10=

26+17+16=

36+ 35+68 =

39+99+61=

29+22+46=

10.
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